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QUESTION 1

Which of the following are TRUE about Semiautomatic Warm Standby? (Choose 2) 

A. DDL always replicates. 

B. Switchover is instantaneous. 

C. Entire database marked with sp_reptostandby. 

D. Individual objects are marked with sp_setreptable. 

E. Subsets of the database may be replicated instead of the whole database. 

Correct Answer: DE 

 

QUESTION 2

Which of the following behaviors can be implemented via function strings? (Choose 2) 

A. Control of the behavior of routes 

B. Customization of transaction error outcomes 

C. Transformation of delete operations to updates 

D. Transformation of insert operations to stored procedure calls 

E. Connectivity to non-Sybase replicate dataserver 

Correct Answer: CD 

 

QUESTION 3

Which of the following statements about stored procedure replication is FALSE? 

A. Replication of stored procedures can be initiated at the Replicate dataserver. 

B. A replicated stored procedure is replicated with its parameters to a replicate database. 

C. The function Replication Definition for a stored procedure is defined at the Primary Replication Server. 

D. Replication of a stored procedure from a replicate database requires a RepAgent. 

E. A replicated stored procedure must modify data in order to be replicated. 

Correct Answer: E 

 

QUESTION 4
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Which of the following are TRUE about the DSI Executor? (Choose 2) 

A. Reads transactions from the transaction log 

B. Reads transactions from the DSI SQT cache 

C. Reads transactions from the outbound queue 

D. Performs exception processing 

Correct Answer: BD 

 

QUESTION 5

Which errorlog code indicates a message is reporting a stopped thread? 

A. E 

B. F 

C. I 

D. H 

E. N 

Correct Answer: D 
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